XYZ,,=95.04 , 100.0 , 108.89

A,=256,-3,) Y

B,=25b,-b,,)Y

az anl (x=x.) /)]
=b,B.[2/y

azo + Do 4

x.=0,110,B, = 0,800

= z+52§]1/2

6 OslwaIdFarben (0) CAB ,=const

Farbenraum (C,g , )

L* 14 =50 + 50[é+e ]/[e +e*]

Y,=Y/18, x= log[Y,]

Llchtan D65, V 90 0,Y,=3.6
X

IName Bereich X N A,
567_775 49.44
v 403 775 63.04
493_567 16.67
c? 380_567 30.61
B, 380_493 17.01
M, 567_493 6338 37.18
Jw; 380 775 85,53 90.0
N, 380 775342 36

N
32 7
76.53
47.05
5152
7.7

PP

a,
3 56 0576 0.331506 4391223
877 0.424 0515570 4630.61
874 023 0649535 5350.184
88.16 0,179 0.302489 5960.23
82.95 0.158 0.071463 5700671 ~3.444 3.096 1.0
82.98 0,345 0.202535c535 1.161 ~0.714 0.656 50.7
980 0312 0329 90%
392 0312 0329 3%
U, 380_775 171 180 196 0.312 0.329 18%

—74 Parameter:
I L*rar & Name
I Y.=vYns,

75@ =1 *-50

ez Y Yoe Lor Lru U

2 B, Cu Tae
-0.034 0683 49.6 256 558 27 181 139 145 1
0036 0.311 -L0 59.6 506 91 425 40.1 410 3
-0.059 0519 -507 339 610 146 261 242 24.9 2
0547 0433 ~49.6 -25.6 55.8 207 2.86 269 27.7 2
-59.6 59.6 271 042 -16H.6167.
-33.9 61.0 326 206 17.4 180 1

0616 -0.348 001 00 00 00 0 499 459 469 40
0616 -0.348 001 00 00 00 180 0.19 -27-G0-A7-80.
0616 -0348 001 00 00 00 18 10 -0.4 0.0 00|
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